City of Seguin 24-inch Transmission Main Bid No. AF-2024-26 Bid Tabulation

24 - 3	3:00 PM			Guerra Underg 9810 FM 969 Austin, TX 7872		Cash Construc 217 Kingston L Pflugerville, TX	acy Blvd.	Pesado Constr 4848 Sinclair R San Antonio, T	Rd.	Blackrock Cons 1475 Heritage I Mansfield, TX 7	Pkway, Ste 113	Harper Brothers 11550 IH 10 W, San Antonio, TX	Suite 11
ltem	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total		Total	Unit Price	Total	Unit Price	To
	BASE BID												
	Performance & Payment Bonds	1	L.S.	\$217,000.00	\$217,000.00	\$76,000.00	\$76,000.00	\$84,272.00	\$84,272.00	\$96,850.00	\$96,850.00	\$84,071.00	\$84
P 2	Mobilization/demobilization	1	L.S.	\$422,000.00	\$422,000.00	\$335,000.00	\$335,000.00	\$526,230.00	\$526,230.00	\$390,000.00	\$390,000.00	\$448,000.00	\$448
P.3	SWPPP	1	L.S.	\$26,000.00	\$26,000.00	\$77,000.00	\$77,000.00	\$11,645.00	\$11,645.00	\$3,250.00	\$3,250.00	\$25,000.00	\$2
	Barricades, signs, traffic handling, and T	16	MO.	\$8,300.00	\$132,800.00	\$3,000.00	\$48,000.00	\$1,707.00	\$27,312.00	\$9,422.00	\$150,752.00	\$5,615.00	\$89
P 5	Topographical survey	1	L.S.	\$39,000.00	\$39,000.00	\$55,000.00	\$55,000.00	\$182,570.00	\$182,570.00	\$61,193.00	\$61,193.00	\$143,000.00	\$14
P 6	UPRR Permit requirements	1	L.S.	\$55,000.00	\$55,000.00	\$59,000.00	\$59,000.00	\$137,573.00	\$137,573.00	\$25,740.00	\$25,740.00	\$82,500.00	\$82
P.7	Topsoil removal and replacement	1	L.S.	\$46,000.00	\$46,000.00	\$20,000.00	\$20,000.00	\$110,952.00	\$110,952.00	\$11,804.00	\$11,804.00	\$56,100.00	\$5
P.8	·	33,736		\$1.20	\$40,483.20	\$0.75	\$25,302.00	\$1.50	\$50,604.00	\$1.00	\$33,736.00	\$1.00	\$3
P.9	Inlet Protection		L.F.	\$25.00	\$2,300.00	\$4.00	\$368.00	\$10.00	\$920.00	\$14.00	\$1,288.00	\$12.00	\$
		13,193		\$5.75	\$75,859.75	\$3.00	\$39,579.00	\$2.54	\$33,510.22	\$4.00	\$52,772.00	\$4.00	\$5
	Temporary Construction Entrance		EA.	\$2,400.00	\$12,000.00	\$1,200.00	\$6,000.00	\$3,678.00	\$18,390.00	\$2,299.00	\$11,495.00	\$2,500.00	\$12
	Existing 24" plug removal at Vetter			+)	+)	· · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	+ -)	+ -)	· · · · · · · ·	+)	· · · · · · · · · · · · · · · · · · ·	
P.12	Booster Sta.	1	EA.	\$4,200.00	\$4,200.00	\$1,800.00	\$1,800.00	\$2,364.00	\$2,364.00	\$1,181.00	\$1,181.00	\$13,125.00	\$1
P.13	Existing 24" plug removal at EST	1	EA.	\$4,200.00	\$4,200.00	\$1,800.00	\$1,800.00	\$2,364.00	\$2,364.00	\$2,361.00	\$2,361.00	\$7,478.00	\$
P.14	Wrought-iron fence removal/replacemer	30	L.F.	\$60.00	\$1,800.00	\$132.00	\$3,960.00	\$114.00	\$3,420.00	\$65.00	\$1,950.00	\$75.00	\$2
P.15	Smooth wire fence removal/replacemen	156	L.F.	\$20.00	\$3,120.00	\$47.00	\$7,332.00	\$16.00	\$2,496.00	\$26.00	\$4,056.00	\$50.00	\$
P.16	Existing signage removal/replacement	1	EA.	\$4,800.00	\$4,800.00	\$1,600.00	\$1,600.00	\$1,251.00	\$1,251.00	\$1,950.00	\$1,950.00	\$5,000.00	\$
P.17	Curb and gutter removal/replacement	41	L.F.	\$58.00	\$2,378.00	\$125.00	\$5,125.00	\$141.00	\$5,781.00	\$66.00	\$2,706.00	\$238.00	\$9
P.18	Asphalt driveways removal/replacement	34	L.F.	\$130.00	\$4,420.00	\$70.00	\$2,380.00	\$81.00	\$2,754.00	\$8.00	\$272.00	\$334.00	\$1 [·]
P.19	Asphalt road removal/replacement	1,919	L.F.	\$92.00	\$176,548.00	\$70.00	\$134,330.00	\$47.00	\$90,193.00	\$46.00	\$88,274.00	\$63.00	\$120
P.20	6" clay sanitary sewer pipe removal	6	L.F.	\$70.00	\$420.00	\$130.00	\$780.00	\$169.00	\$1,014.00	\$13.00	\$78.00	\$174.00	\$
P.21	Abandomnet of 12" sanitary sewer	1,359	L.F.	\$27.00	\$36,693.00	\$53.00	\$72,027.00	\$10.00	\$13,590.00	\$13.00	\$17,667.00	\$15.00	\$20
P.22	Cone and manhole removal/disposal	3	EA.	\$1,800.00	\$5,400.00	\$1,300.00	\$3,900.00	\$591.00	\$1,773.00	\$3,292.00	\$9,876.00	\$3,589.00	\$10
P.23	Relocating fire hydrants	1	EA.	\$9,200.00	\$9,200.00	\$10,000.00	\$10,000.00	\$3,992.00	\$3,992.00	\$5,265.00	\$5,265.00	\$6,273.00	\$0
P.24	Relocating existing water meter	1	EA.	\$700.00	\$700.00	\$920.00	\$920.00	\$1,137.00	\$1,137.00	\$3,781.00	\$3,781.00	\$1,538.00	\$
P.25	24" DI transmission main	10,749	L.F.	\$252.00	\$2,708,748.00	\$262.00	\$2,816,238.00	\$268.00	\$2,880,732.00	\$252.00	\$2,708,748.00	\$260.00	\$2,794
	24" Transmission main by BORE	416	L.F.	\$876.00	\$364,416.00	\$910.00	\$378,560.00	\$1,334.00	\$554,944.00	\$889.00	\$369,824.00	\$1,531.00	\$630
P.27	42" steel casing at UPRR ROW	187	L.F.	\$1,491.00	\$278,817.00	\$1,442.00	\$269,654.00	\$1,332.00	\$249,084.00	\$1,998.00	\$373,626.00	\$1,500.00	\$280
P.28	42" steel casing at IH 10	452	L.F.	\$1,466.00	\$662,632.00	\$1,365.00	\$616,980.00	\$1,266.00	\$572,232.00	\$1,583.00	\$715,516.00	\$1,333.00	\$602
P.29	42" steel casing at Strempel Rd.		L.F.	\$1,494.00	\$116,532.00	\$1,740.00	\$135,720.00	\$1,396.00	\$108,888.00	\$1,317.00	\$102,726.00	\$1,423.00	\$11
P.30	42" steel casing at Alpine Meadow Dr.	94	L.F.	\$1,493.00	\$140,342.00	\$1,450.00	\$136,300.00	\$1,385.00	\$130,190.00	\$1,315.00	\$123,610.00	\$1,376.00	\$12
P.31	42" steel casing (OPEN CUT)	125	L.F.	\$775.00	\$96,875.00	\$710.00	\$88,750.00	\$695.00	\$86,875.00	\$802.00	\$100,250.00	\$898.00	\$11
P.32	24" butterfly valves	5		\$18,500.00	\$92,500.00	\$20,000.00	\$100,000.00	\$21,437.00	\$107,185.00	\$17,751.00	\$88,755.00	\$21,500.00	\$10
	Main line fittings		TON		\$70,200.00	\$13,000.00	\$351,000.00	\$7,757.00	\$209,439.00	\$11,774.00	\$317,898.00	\$10,183.00	\$274
P.34	Flowable fill for trenches	1,905	L.F.	\$129.00	\$245,745.00	\$96.00	\$182,880.00	\$104.00	\$198,120.00	\$122.00	\$232,410.00	\$148.00	\$28
P.35	Air release valves		EA.	\$22,500.00	\$45,000.00	\$22,000.00	\$44,000.00	\$18,139.00	\$36,278.00	\$28,192.00	\$56,384.00	\$30,209.00	\$60
P.36	Fire hydrant assembly and valves		EA.	\$8,100.00	\$48,600.00	\$8,100.00	\$48,600.00	\$7,205.00	\$43,230.00	\$10,105.00	\$60,630.00	\$10,122.00	\$60
P.37	OSHA trenching	10,683		\$3.50	\$37,390.50	\$1.00	\$10,683.00	\$2.50	\$26,707.50	\$10.00	\$106,830.00	\$3.00	\$32
	Incidental Items		L.S.	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$25
P.39	ТСР	1	MO.	\$3,100.00	\$3,100.00	\$3,000.00	\$3,000.00	\$2,898.00	\$2,898.00	\$9,422.00	\$9,422.00	\$1,737.00	\$
P.40	Topsoil removal and protection	1	L.S.	\$22,000.00	\$22,000.00	\$4,000.00	\$4,000.00	\$154,450.00	\$154,450.00	\$11,804.00	\$11,804.00	\$50,503.00	\$5
P.41	Hydro-mulching	42,883	S.Y.	\$1.20	\$51,459.60	\$1.00	\$42,883.00	\$1.52	\$65,182.16	\$1.00	\$42,883.00	\$1.00	\$4
P.42	Silt Fence	6,508	L.F.	\$5.75	\$37,421.00	\$3.00	\$19,524.00	\$2.54	\$16,530.32	\$4.00	\$26,032.00	\$4.00	\$2



City of Seguin 24-inch Transmission Main Bid No. AF-2024-26 Bid Tabulation April 23, 2024 - 3:00 PM

	tion 24 - 3:00 PM		Guer		round, LLC	Cash Construct	tion Co.	Pesado Construction Co.		Blackrock Construction		Harper Brothers Construction	
2024 - 3				9810 FM 969				4848 Sinclair Rd.		1475 Heritage F		11550 IH 10 W, Suite 110	
				Austin, TX 7872		Pflugerville, TX		San Antonio, T		Mansfield, TX 7	-	San Antonio, T	
Item	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total		Total	Unit Price	Total	Unit Price	Total
	Temporary Construction Entrance	2	EA.	\$2,400.00	\$4,800.00	\$1,200.00	\$2,400.00	\$3,078.00	\$6,156.00	\$2,299.00	\$4,598.00	\$2,500.00	\$5,000.00
	Connect 20" WL to existing at EST	1	EA.	\$16,500.00	\$16,500.00	\$1,800.00	\$1,800.00	\$32,495.00	\$32,495.00	\$11,804.00	\$11,804.00	\$19,653.00	\$19,653.00
	20" plug removal at EST	1	EA.	\$14,000.00	\$14,000.00	\$1,800.00	\$1,800.00	\$269.00	\$269.00	\$1,181.00	\$1,181.00	\$18,330.00	\$18,330.00
	16" plug removal/connect to 20" WL	1	EA.	\$14,000.00	\$14,000.00	\$1,800.00	\$1,800.00	\$23,058.00	\$23,058.00	\$1,181.00	\$1,181.00	\$18,439.00	\$18,439.00
	Wrought-iron fence replacement	20	L.F.	\$63.00	\$1,260.00	\$132.00	\$2,640.00	\$43.00	\$860.00	\$65.00	\$1,300.00	\$75.00	\$1,500.00
	Concrete driveways removal	15	L.F.	\$235.00	\$3,525.00	\$380.00	\$5,700.00	\$272.00	\$4,080.00	\$66.00	\$990.00	\$911.00	\$13,665.00
	Remove 12" sewer pipe	20	L.F.	\$325.00	\$6,500.00	\$1,300.00	\$26,000.00	\$1,331.00	\$26,620.00	\$111.00	\$2,220.00	\$1,560.00	\$31,200.00
	20" PVC water main	6,608	L.F.	\$176.00	\$1,163,008.00	\$210.00	\$1,387,680.00	\$182.00	\$1,202,656.00	\$215.00	\$1,420,720.00	\$191.00	\$1,262,128.00
	20" DI water main	180	L.F.	\$240.00	\$43,200.00	\$250.00	\$45,000.00	\$242.00	\$43,560.00	\$265.00	\$47,700.00	\$275.00	\$49,500.00
P.52	36" steel casing at N. Austin St.	126	L.F.	\$1,295.00	\$163,170.00	\$1,230.00	\$154,980.00	\$1,094.00	\$137,844.00	\$1,166.00	\$146,916.00	\$1,143.00	\$144,018.00
	36" steel casing (OPEN CUT)	20	L.F.	\$669.00	\$13,380.00	\$585.00	\$11,700.00	\$530.00	\$10,600.00	\$574.00	\$11,480.00	\$897.00	\$17,940.00
	20" butterfly valves	6	EA.	\$13,000.00	\$78,000.00	\$14,100.00	\$84,600.00	\$11,302.00	\$67,812.00	\$12,532.00	\$75,192.00	\$15,958.00	\$95,748.00
	20" seat gate valves	2	EA.	\$38,000.00	\$76,000.00	\$52,000.00	\$104,000.00	\$43,796.00	\$87,592.00	\$42,180.00	\$84,360.00	\$52,000.00	\$104,000.00
	DI main line fittings	10	TON	\$2,600.00	\$26,000.00	\$13,000.00	\$130,000.00	\$6,049.00	\$60,490.00	\$13,413.00	\$134,130.00	\$9,599.00	\$95,990.00
P.57	Detection Wire	6,608	L.F.	\$0.20	\$1,321.60	\$0.50	\$3,304.00	\$0.15	\$991.20	\$3.00	\$19,824.00	\$0.50	\$3,304.00
P.58	Detection Tape	6,608	L.F.	\$0.20	\$1,321.60	\$0.50	\$3,304.00	\$0.18	\$1,189.44	\$2.00	\$13,216.00	\$0.50	\$3,304.00
P.59	Fire hydrant assembly and valves	2	EA.	\$8,200.00	\$16,400.00	\$8,100.00	\$16,200.00	\$7,885.00	\$15,770.00	\$9,898.00	\$19,796.00	\$9,997.00	\$19,994.00
P.60	OSHA trenching	6,808	L.F.	\$3.50	\$23,828.00	\$1.00	\$6,808.00	\$2.50	\$17,020.00	\$10.00	\$68,080.00	\$3.00	\$20,424.00
P.61	TCP	2	MO.	\$9,200.00	\$18,400.00	\$3,000.00	\$6,000.00	\$5,328.00	\$10,656.00	\$9,422.00	\$18,844.00	\$3,809.00	\$7,618.00
P.62	Topsoil removal and protection	1	L.S.	\$12,700.00	\$12,700.00	\$500.00	\$500.00	\$8,500.00	\$8,500.00	\$11,804.00	\$11,804.00	\$6,659.00	\$6,659.00
P.63	Hydro-mulching	1,908	S.Y.	\$1.30	\$2,480.40	\$1.00	\$1,908.00	\$1.80	\$3,434.40	\$1.00	\$1,908.00	\$2.00	\$3,816.00
P.64	Inlet Protection	54	L.F.	\$20.00	\$1,080.00	\$4.00	\$216.00	\$10.00	\$540.00	\$14.00	\$756.00	\$12.00	\$648.00
P.65	Silt Fence	1,499	L.F.	\$6.00	\$8,994.00	\$3.00	\$4,497.00	\$2.54	\$3,807.46	\$4.00	\$5,996.00	\$4.00	\$5,996.00
P.66	Curb and gutter replacement	6	L.F.	\$100.00	\$600.00	\$125.00	\$750.00	\$134.00	\$804.00	\$66.00	\$396.00	\$822.00	\$4,932.00
P.67	Asphalt road replacement	538	S.Y.	\$40.00	\$21,520.00	\$70.00	\$37,660.00	\$43.00	\$23,134.00	\$46.00	\$24,748.00	\$68.00	\$36,584.00
	12" PVC water main	1,686	L.F.	\$94.00	\$158,484.00	\$115.00	\$193,890.00	\$119.00	\$200,634.00	\$132.00	\$222,552.00	\$118.00	\$198,948.00
	12"x8" tapping sleeve	1	EA.	\$8,900.00	\$8,900.00	\$6,000.00	\$6,000.00	\$16,662.00	\$16,662.00	\$7,017.00	\$7,017.00	\$14,850.00	\$14,850.00
	12"x12" tapping sleeve	1	EA.	\$14,000.00	\$14,000.00	\$8,000.00	\$8,000.00	\$11,677.00	\$11,677.00	\$5,678.00	\$5,678.00	\$18,188.00	\$18,188.00
-	12" seat gate vavles	3	-	\$4,300.00	\$12,900.00	\$4,700.00	\$14,100.00	\$4,661.00	\$13,983.00	\$5,372.00	\$16,116.00	\$6,908.00	\$20,724.00
	DI main line fittings	1	TON	\$2,600.00	\$2,600.00	\$14,000.00	\$14,000.00	\$10,891.00	\$10,891.00	\$13,479.00	\$13,479.00	\$13,014.00	\$13,014.00
	Detection wire	1,686		\$0.20	\$337.20	\$0.50	\$843.00	\$0.15	\$252.90	\$3.00	\$5,058.00	\$0.50	\$843.00
	Detection Tape	1,686	-	\$0.20	\$337.20	\$0.50	\$843.00	\$0.20	\$337.20	\$2.00	\$3,372.00	\$0.50	\$843.00
	Flowable fill for trenches	538	L.F.	\$100.00	\$53,800.00	\$78.00	\$41,964.00	\$69.00	\$37,122.00	\$97.00	\$52,186.00	\$107.00	\$57,566.00
	Fire hydrant assembly and valves	4	EA.	\$8,300.00	\$33,200.00	\$8,100.00	\$32,400.00	\$7,360.00	\$29,440.00	\$4,000.00	\$16,000.00	\$9,947.00	\$39,788.00
P.77	OSHA trenching	1,686	L.F.	\$3.50	\$5,901.00	\$1.00	\$1,686.00	\$2.50		\$10.00	\$16,860.00	\$3.00	\$5,058.00
	TOTAL BASE BID				\$8,616,548.05		\$8,840,948.00		\$9,124,224.80		\$9,163,103.00		\$9,462,481.00
		1	1										
	Install 42" OD x 5/8" wall smooth steel	400		¢700.00		¢ 4 4 0 0 0	ФЕА 444 00	¢400.00	#EZ 040 00	¢4,000,00	¢400.000.00	¢450.00	
P.A.1	casing by OPEN CUT			\$723.00	\$88,929.00	\$418.00	\$51,414.00	\$466.00	\$57,318.00	\$1,000.00	\$123,000.00	\$459.00	\$56,457.00
					\$88,929.00		\$51,414.00		\$57,318.00		\$123,000.00		\$56,457.00
	TOTAL BASE BID + ALTERNATE BI				\$8,705,477.05		\$8,892,362.00		\$9,181,542.80		\$9,286,103.00		\$9,518,938.00

	TRC
--	-----

City of Seguin 24-inch Transmission Main Bid No. AF-2024-26 Bid Tabulation

il 23, 2	lation 2024 - 3:00 PM			M&C Fonseca Cons 1901 Prairie Creek Granite Shoals, TX	Rd. 78654	Qro Mex Const 2801 Prairie Cro Granite Shoals,	eek Rd. TX 78654	M-5 Utilities 10038 Johns Rd Boerne,TX 7800	6	C.C Carlton Industri 3102 Bee Caves Rd Austin,TX 78746	. Ste 200	Nerie Constructio 3213 Fuqua St. Houston, TX 7704	17
ltem	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
	BASE BID												
P.1	Performance & Payment Bonds	1	L.S.	\$200,000.00	\$200,000.00	\$425,000.00	\$425,000.00	\$120,000.00	\$120,000.00	\$175,000.00	\$175,000.00	\$273,000.00	\$273,000.0
P.2	Mobilization/demobilization	1	L.S.	\$300,000.00	\$300,000.00	\$500,000.00	\$500,000.00	\$440,725.00	\$440,725.00	\$275,900.00	\$275,900.00	\$200,000.00	\$200,000.0
P.3	SWPPP	1	L.S.	\$45,000.00	\$45,000.00	\$70,000.00	\$70,000.00	\$18,000.00	\$18,000.00	\$5,050.00	\$5,050.00	\$15,000.00	\$15,000.0
P.4	Barricades, signs, traffic handling, and T	16		\$3,000.00	\$48,000.00	\$7,500.00	\$120,000.00	\$14,400.00	\$230,400.00	\$2,770.00	\$44,320.00	\$15,000.00	\$240,000.0
P.5	Topographical survey	1	L.S.	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$60,000.00	\$60,000.00	\$12,000.00	\$12,000.00	\$30,000.00	\$30,000.0
P.6	UPRR Permit requirements	1	L.S.	\$75,000.00	\$75,000.00	\$400,000.00	\$400,000.00	\$180,000.00	\$180,000.00	\$95,000.00	\$95,000.00	\$30,000.00	\$30,000.0
P.7	Topsoil removal and replacement	1	L.S.	\$50,000.00	\$50,000.00	\$70,000.00	\$70,000.00	\$31,030.06	\$31,030.06	\$30,400.00	\$30,400.00	\$25,000.00	\$25,000.0
P.8	Hydro-mulching	33,736		\$1.75	\$59,038.00	\$1.00	\$33,736.00	\$3.00	\$101,208.00	\$1.25	\$42,170.00	\$0.70	\$23,615.2
P.9	Inlet Protection	92		\$18.00	\$1,656.00	\$10.00	\$920.00	\$24.00	\$2,208.00	\$50.00	\$4,600.00	\$40.00	\$3,680.0
	Silt Fence	13,193	_	\$6.00	\$79,158.00	\$5.00	\$65,965.00	\$4.20	\$55,410.60	\$4.50	\$59,368.50	\$10.00	\$131,930.0
P.11	Temporary Construction Entrance	5	EA.	\$2,000.00	\$10,000.00	\$4,000.00	\$20,000.00	\$6,806.01	\$34,030.05	\$3,000.00	\$15,000.00	\$10,000.00	\$50,000.0
	Existing 24" plug removal at Vetter			AA AAA	* ••••••	AT 500.00	AT 500.00	AT TOT OO	*-------------	A 4 A B A A		**	
	Booster Sta.	1	EA.	\$9,000.00	\$9,000.00	\$7,500.00	\$7,500.00	\$7,727.33	\$7,727.33	\$14,500.00	\$14,500.00	\$8,215.47	\$8,215.4
-	Existing 24" plug removal at EST	1	EA.	\$9,000.00	\$9,000.00	\$6,000.00	\$6,000.00	\$7,727.33	\$7,727.33	\$14,500.00	\$14,500.00	\$7,826.39	\$7,826.3
	Wrought-iron fence removal/replacemer	30	_	\$25.00	\$750.00	\$150.00	\$4,500.00	\$120.00	\$3,600.00	\$110.00	\$3,300.00	\$150.00	\$4,500.0
	Smooth wire fence removal/replacemen	156	-	\$25.00	\$3,900.00	\$20.00	\$3,120.00	\$48.00	\$7,488.00	\$36.00	\$5,616.00	\$60.00	\$9,360.0
	Existing signage removal/replacement	1	EA.	\$500.00	\$500.00	\$3,500.00	\$3,500.00	\$600.00	\$600.00	\$1,740.00	\$1,740.00	\$10,000.00	\$10,000.0
	Curb and gutter removal/replacement	41		\$65.00	\$2,665.00	\$60.00	\$2,460.00	\$190.56	\$7,812.96	\$96.00	\$3,936.00	\$75.00	\$3,075.0
	Asphalt driveways removal/replacement	34		\$125.00	\$4,250.00	\$120.00	\$4,080.00	\$504.41	\$17,149.94	\$76.00	\$2,584.00	\$85.00	\$2,890.0
	Asphalt road removal/replacement	1,919		\$135.00	\$259,065.00	\$60.00	\$115,140.00	\$48.70	\$93,455.30	\$81.00	\$155,439.00	\$45.00	\$86,355.0
	6" clay sanitary sewer pipe removal	6		\$150.00	\$900.00	\$100.00	\$600.00	\$284.57	\$1,707.42	\$360.00	\$2,160.00	\$45.00	\$270.0
	Abandomnet of 12" sanitary sewer	1,359	_	\$15.00	\$20,385.00	\$25.00	\$33,975.00	\$16.04	\$21,798.36	\$35.00	\$47,565.00	\$40.00	\$54,360.0
	Cone and manhole removal/disposal	3	_	\$1,300.00	\$3,900.00	\$3,000.00	\$9,000.00	\$3,414.50	\$10,243.50	\$2,200.00	\$6,600.00	\$6,500.00	\$19,500.0
	Relocating fire hydrants	1	EA.	\$9,000.00	\$9,000.00	\$15,000.00	\$15,000.00	\$2,503.01	\$2,503.01	\$12,320.00	\$12,320.00	\$3,660.00	\$3,660.0
-	Relocating existing water meter	1	EA.	\$2,300.00	\$2,300.00	\$1,500.00	\$1,500.00	\$1,251.50	\$1,251.50	\$15,260.00	\$15,260.00	\$2,279.00	\$2,279.0
	24" DI transmission main	10,749	-	\$292.00	\$3,138,708.00	\$257.00	\$2,762,493.00	\$319.59	\$3,435,272.91	\$310.00	\$3,332,190.00	\$360.78	\$3,878,024.2
	24" Transmission main by BORE	416		\$750.00	\$312,000.00	\$875.00	\$364,000.00	\$357.44	\$148,695.04	\$1,320.00	\$549,120.00	\$503.89	\$209,618.2
	42" steel casing at UPRR ROW		<u>L.F.</u>		\$402,050.00	\$1,200.00	\$224,400.00	\$1,648.57	\$308,282.59	\$2,020.00	\$377,740.00	\$1,540.07	\$287,993.0
	42" steel casing at IH 10	452			\$813,600.00	\$1,200.00	\$542,400.00	\$1,368.23	\$618,439.96	\$1,640.00	\$741,280.00	\$1,538.29	\$695,307.0
	42" steel casing at Strempel Rd.		<u>L.F.</u>		\$140,400.00	\$1,200.00	\$93,600.00	\$1,528.10	\$119,191.80	\$1,795.00	\$140,010.00	\$1,348.45	\$105,179.1
	42" steel casing at Alpine Meadow Dr.	94			\$169,200.00	\$1,300.00	\$122,200.00	\$1,465.62	\$137,768.28	\$1,750.00	\$164,500.00	\$1,345.04	\$126,433.7
-	42" steel casing (OPEN CUT)	125	_		\$120,625.00	\$950.00	\$118,750.00	\$1,018.56	\$127,320.00	\$790.00	\$98,750.00	\$991.62	\$123,952.5
	24" butterfly valves	5	_	\$18,650.00	\$93,250.00	\$19,000.00	\$95,000.00	\$24,735.68	\$123,678.40	\$17,180.00	\$85,900.00	\$23,648.00	\$118,240.0
	Main line fittings	27	_	. ,	\$405,000.00	\$11,500.00	\$310,500.00	\$13,738.47	\$370,938.69	\$9,900.00	\$267,300.00	\$13,077.00	\$353,079.0
	Flowable fill for trenches		L.F.		\$161,925.00	\$225.00	\$428,625.00	\$94.17	\$179,393.85	\$216.00	\$411,480.00		\$301,752.0
	Air release valves	2	_	\$77,500.00	\$155,000.00	\$55,000.00	\$110,000.00	\$30,221.82	\$60,443.64	\$31,030.00	\$62,060.00	\$26,807.28	\$53,614.5
	Fire hydrant assembly and valves	6	_	\$9,000.00	\$54,000.00	\$7,500.00	\$45,000.00	\$8,163.71	\$48,982.26	\$12,930.00	\$77,580.00	\$9,187.60	\$55,125.6
	OSHA trenching	10,683			\$21,366.00	\$5.00	\$53,415.00	\$2.40	\$25,639.20	\$1.00	\$10,683.00	\$5.00	\$53,415.0
-	Incidental Items	1	L.S.		\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.0
P.39		1	MO.		\$3,000.00	\$30,000.00	\$30,000.00	\$3,600.00	\$3,600.00	\$9,300.00	\$9,300.00	\$15,000.00	\$15,000.0
	Topsoil removal and protection	1	L.S.	. ,	\$15,000.00	\$45,000.00	\$45,000.00	\$12,515.03	\$12,515.03	\$38,600.00	\$38,600.00	\$20,000.00	\$20,000.0
	Hydro-mulching	42,883	_		\$75,045.25	\$1.50	\$64,324.50	\$3.00	\$128,649.00	\$1.25	\$53,603.75	\$0.60	\$25,729.8
P.42	Silt Fence	6,508	L.F.	\$6.00	\$39,048.00	\$5.00	\$32,540.00	\$4.20	\$27,333.60	\$4.50	\$29,286.00	\$5.00	\$32,540.0



City of Seguin 24-inch Transmission Main Bid No. AF-2024-26 Bid Tabulation

Tabul	ation 2024 - 3:00 PM		M&C Fonseca Con	st. Co, Inc.	Qro Mex Const	ruction Co.	M-5 Utilities		C.C Carlton Industr	ies, LTD	Nerie Constructio	on, LLC.
. 20, 2			1901 Prairie Creek	Rd.	2801 Prairie Cr	eek Rd.	10038 Johns Rd	l	3102 Bee Caves Ro	d. Ste 200	3213 Fuqua St.	
			Granite Shoals, TX	78654	Granite Shoals,	TX 78654	Boerne,TX 7800	6	Austin,TX 78746		Houston, TX 770	47
ltem	Description	Qty. Un	it Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
P.43	Temporary Construction Entrance	2 E/	\$2,000.00	\$4,000.00	\$4,500.00	\$9,000.00	\$6,806.01	\$13,612.02	\$3,000.00	\$6,000.00	\$15,000.00	\$30,000.0
P.44	Connect 20" WL to existing at EST	1 E/	A. \$9,250.00	\$9,250.00	\$21,500.00	\$21,500.00	\$26,389.12	\$26,389.12	\$17,900.00	\$17,900.00	\$18,135.98	\$18,135.9
P.45	20" plug removal at EST	1 EA	\$30,000.00	\$30,000.00	\$9,500.00	\$9,500.00	\$18,257.21	\$18,257.21	\$11,800.00	\$11,800.00	\$18,015.90	\$18,015.9
P.46	16" plug removal/connect to 20" WL	1 EA	\$21,500.00	\$21,500.00	\$12,000.00	\$12,000.00	\$18,364.27	\$18,364.27	\$11,000.00	\$11,000.00	\$18,140.81	\$18,140.8
P.47	Wrought-iron fence replacement	20 L.I	F. \$25.00	\$500.00	\$200.00	\$4,000.00	\$120.00	\$2,400.00	\$113.00	\$2,260.00	\$98.00	\$1,960.0
P.48	Concrete driveways removal	15 L.I	5. \$345.00	\$5,175.00	\$300.00	\$4,500.00	\$333.73	\$5,005.95	\$90.00	\$1,350.00	\$120.00	\$1,800.0
P.49	Remove 12" sewer pipe	20 L.I	F. \$225.00	\$4,500.00	\$750.00	\$15,000.00	\$240.96	\$4,819.20	\$1,410.00	\$28,200.00	\$381.43	\$7,628.6
P.50	20" PVC water main	6,608 L.I	F. \$195.00	\$1,288,560.00	\$206.00	\$1,361,248.00	\$218.61	\$1,444,574.88	\$270.00	\$1,784,160.00	\$259.67	\$1,715,899.3
P.51	20" DI water main	180 L.I	. \$220.00	\$39,600.00	\$260.00	\$46,800.00	\$273.43	\$49,217.40	\$255.00	\$45,900.00	\$373.59	\$67,246.2
P.52	36" steel casing at N. Austin St.	126 L.I	F. \$1,500.00	\$189,000.00	\$850.00	\$107,100.00	\$1,257.40	\$158,432.40	\$1,200.00	\$151,200.00	\$1,097.38	\$138,269.8
P.53	36" steel casing (OPEN CUT)	20 L.I		\$19,300.00	\$700.00	\$14,000.00	\$876.19	\$17,523.80	\$570.00	\$11,400.00	\$1,124.16	\$22,483.2
	20" butterfly valves	6 E/	. ,	\$93,000.00	\$15,500.00	\$93,000.00	\$16,959.13	\$101,754.78	\$12,050.00	\$72,300.00	\$18,362.40	\$110,174.4
P.55	20" seat gate valves	2 E/	. ,	\$120,000.00	\$60,000.00	\$120,000.00	\$50,699.92	\$101,399.84	\$41,500.00	\$83,000.00	\$19,652.15	\$39,304.3
P.56	DI main line fittings	10 TC		\$135,000.00	\$13,000.00	\$130,000.00	\$14,331.75	\$143,317.50	\$10,890.00	\$108,900.00	\$15,536.78	\$155,367.8
P.57	Detection Wire	6,608 L.I		\$1,652.00	\$1.00	\$6,608.00	\$0.16	\$1,057.28	\$1.00	\$6,608.00	\$1.00	\$6,608.0
	Detection Tape	6,608 L.I		\$1,652.00	\$1.00	\$6,608.00	\$0.19	\$1,255.52	\$1.00	\$6,608.00	\$1.00	\$6,608.0
	Fire hydrant assembly and valves	2 E/		\$18,000.00	\$7,500.00	\$15,000.00	\$8,163.70	\$16,327.40	\$11,430.00	\$22,860.00	\$9,187.60	\$18,375.2
	OSHA trenching	6,808 L.I	· ·	\$13,616.00	\$5.00	\$34,040.00	\$3.60	\$24,508.80	\$1.00	\$6,808.00	\$5.00	\$34,040.0
	ТСР	2 M0	. ,	\$6,000.00	\$15,000.00	\$30,000.00	\$3,600.00	\$7,200.00	\$9,300.00	\$18,600.00	\$7,500.00	\$15,000.0
	Topsoil removal and protection	1 L.S	. ,	\$10,000.00	\$20,000.00	\$20,000.00	\$13,115.03	\$13,115.03	\$1,717.00	\$1,717.00	\$7,000.00	\$7,000.0
P.63	Hydro-mulching	1,908 S.`		\$3,339.00	\$1.50	\$2,862.00	\$3.00	\$5,724.00	\$1.25	\$2,385.00	\$1.40	\$2,671.2
P.64	Inlet Protection	54 L.I		\$972.00	\$15.00	\$810.00	\$24.00	\$1,296.00	\$50.00	\$2,700.00	\$20.00	\$1,080.0
	Silt Fence	1,499 L.I		\$8,994.00	\$5.00	\$7,495.00	\$4.20	\$6,295.80	\$4.50	\$6,745.50	\$5.00	\$7,495.0
	Curb and gutter replacement	6 L.I		\$390.00	\$45.00	\$270.00	\$190.38	\$1,142.28	\$120.00	\$720.00	\$120.00	\$720.0
-	Asphalt road replacement	538 S.		\$72,630.00	\$65.00	\$34,970.00	\$152.56	\$82,077.28	\$80.00	\$43,040.00	\$50.00	\$26,900.0
	12" PVC water main	1,686 L.I		\$185,460.00	\$110.00	\$185,460.00	\$120.89	\$203,820.54	\$143.00	\$241,098.00	\$112.63	\$189,894.1
	12"x8" tapping sleeve	1 E/		\$7,500.00	\$10,000.00	\$10,000.00	\$10,638.67	\$10,638.67	\$6,785.00	\$6,785.00	\$6,327.61	\$6,327.6
	12"x12" tapping sleeve	1 EA	+ -)	\$8,500.00	\$12,500.00	\$12,500.00	\$15,607.63	\$15,607.63	\$8,070.00	\$8,070.00	\$12,124.73	\$12,124.7
	12" seat gate vavles	3 E/	. ,	\$18,000.00	\$4,500.00	\$13,500.00	\$13,496.99	\$40,490.97	\$5,390.00	\$16,170.00	\$6,383.22	\$19,149.6
	DI main line fittings	1 TC		\$12,500.00	\$12,000.00	\$12,000.00	\$21,155.45	\$21,155.45	\$15,130.00	\$15,130.00	\$14,923.38	\$14,923.3
	Detection wire	1,686 L.I		\$421.50	\$1.00	\$1,686.00	\$0.16	\$269.76	\$1.00	\$1,686.00	\$1.58	\$2,663.8
	Detection Tape	1,686 L.I		\$421.50	\$1.00	\$1,686.00	\$0.22	\$370.92	\$1.00	\$1,686.00	\$1.61	\$2,714.4
	Flowable fill for trenches	538 L.I		\$24,210.00	\$225.00	\$121,050.00	\$80.30	\$43,201.40	\$186.00	\$100,068.00	\$55.00	\$29,590.0
	Fire hydrant assembly and valves	4 E/		\$36,000.00	\$7,500.00	\$30,000.00	\$8,236.55	\$32,946.20	\$10,230.00	\$40,920.00	\$9,132.58	\$36,530.3
Ρ.//	OSHA trenching	1,686 L.I	. \$2.00	\$3,372.00	\$5.00	\$8,430.00	\$2.40	\$4,046.40	\$1.00	\$1,686.00		\$1,686.0
	TOTAL BASE BID	<u>' </u>		\$9,980,699.25		\$10,136,866.50		\$10,219,836.31		\$10,631,171.75		\$10,726,048.0
	ALTERNATE BID ITEMS											
	Install 42" OD x 5/8" wall smooth steel		¢065.00	¢110 605 00	¢000.00	¢00 400 00	¢1 500 00	¢101 500 00	¢520.00	¢65 400 00	¢704 70	<u> </u>
Р.А. 1	casing by OPEN CUT	123 L.I		\$118,695.00	\$800.00	\$98,400.00	\$1,500.00	\$184,500.00	\$530.00	\$65,190.00	\$794.70	\$97,748.1
		TERNATE B		\$118,695.00		\$98,400.00		\$184,500.00		\$65,190.00		\$97,748.1
	TOTAL BASE BID + ALTERNATE BI			\$10,099,394.25		\$10,235,266.50		\$10,404,336.31		\$10,696,361.75		\$10,823,796.



City of Seguin 24-inch Transmission Main Bid No. AF-2024-26 Bid Tabulation April 23, 2024 - 3:00 PM

				Skyeblue Utilities, PO Box 1001 Kingsland, TX 786		Spiess Construc PO Box 2849 Santa Maria, CA		Aaron Concrete Contractors,LLC 41808 Nixon Lane Austin, Tx 78725		
ltem	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	
	BASE BID		1							
P.1	Performance & Payment Bonds	1	L.S.	\$125,000.00	\$125,000.00	\$520,000.00	\$520,000.00	\$125,000.00	\$125,000.00	
P.2	Mobilization/demobilization	1	L.S.	\$500,000.00	\$500,000.00	\$520,000.00	\$520,000.00	\$400,000.00	\$400,000.00	
P.3	SWPPP	1	L.S.	\$7,500.00	\$7,500.00	\$62,000.00	\$62,000.00	\$10,000.00	\$10,000.00	
P.4	Barricades, signs, traffic handling, and T	16	MO.	\$8,750.00	\$140,000.00	\$3,000.00	\$48,000.00	\$4,000.00	\$64,000.00	
P.5	Topographical survey	1	L.S.	\$37,500.00	\$37,500.00	\$74,000.00	\$74,000.00	\$120,000.00	\$120,000.00	
P.6	UPRR Permit requirements	1	L.S.	\$75,000.00	\$75,000.00	\$90,000.00	\$90,000.00	\$90,000.00	\$90,000.00	
P.7	Topsoil removal and replacement	1	L.S.	\$100,000.00	\$100,000.00	\$48,000.00	\$48,000.00	\$100,000.00	\$100,000.00	
P.8	Hydro-mulching	33,736	S.Y.	\$1.88	\$63,423.68	\$1.00	\$33,736.00	\$1.00	\$33,736.00	
P.9	Inlet Protection	92	L.F.	\$43.75	\$4,025.00	\$10.00	\$920.00	\$130.00	\$11,960.00	
	Silt Fence	13,193	L.F.	\$3.75	\$49,473.75	\$3.00	\$39,579.00	\$10.00	\$131,930.00	
P.11	Temporary Construction Entrance	5	EA.	\$1,875.00	\$9,375.00	\$2,000.00	\$10,000.00	\$3,000.00	\$15,000.00	
	Existing 24" plug removal at Vetter							*	A OF 000 00	
	Booster Sta.	1	EA.	\$18,949.34	\$18,949.34	\$12,500.00	\$12,500.00	\$25,000.00	\$25,000.00	
	Existing 24" plug removal at EST	1	EA.	\$22,699.34	\$22,699.34	\$12,500.00	\$12,500.00	\$25,000.00	\$25,000.00	
	Wrought-iron fence removal/replacemer	30	L.F.	\$125.00	\$3,750.00	\$100.00	\$3,000.00	\$200.00	\$6,000.00	
	Smooth wire fence removal/replacemen	156	L.F.	\$31.25	\$4,875.00	\$20.00	\$3,120.00	\$20.00	\$3,120.00	
	Existing signage removal/replacement	1	EA.	\$7,500.00	\$7,500.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	
	Curb and gutter removal/replacement	41	L.F.	\$87.50	\$3,587.50	\$100.00	\$4,100.00	\$100.00	\$4,100.00	
	Asphalt driveways removal/replacement		L.F.	\$50.00	\$1,700.00	\$300.00	\$10,200.00	\$1,000.00	\$34,000.00	
P.19	Asphalt road removal/replacement	1,919	L.F.	\$43.75	\$83,956.25	\$67.00	\$128,573.00	\$110.00	\$211,090.00	
	6" clay sanitary sewer pipe removal	6	L.F.	\$187.50	\$1,125.00	\$30.00	\$180.00	\$300.00	\$1,800.00	
	Abandomnet of 12" sanitary sewer	1,359	L.F.	\$37.50	\$50,962.50	\$13.00	\$17,667.00	\$100.00	\$135,900.00	
P.22	Cone and manhole removal/disposal	3	EA.	\$1,875.00	\$5,625.00	\$2,200.00	\$6,600.00	\$5,000.00	\$15,000.00	
	Relocating fire hydrants	1	EA.	\$6,250.00	\$6,250.00	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00	
	Relocating existing water meter	1	EA.	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	
	24" DI transmission main	10,749	L.F.	\$315.30	\$3,389,159.70	\$384.00	\$4,127,616.00	\$400.00	\$4,299,600.00	
	24" Transmission main by BORE	416	L.F.	\$373.08	\$155,201.28	\$1,500.00	\$624,000.00	\$1,500.00	\$624,000.00	
-	42" steel casing at UPRR ROW	187		\$1,624.18	\$303,721.66	\$1,700.00	\$317,900.00		\$411,400.00	
	42" steel casing at IH 10	452	L.F.	\$1,482.88	\$670,261.76	\$1,900.00	\$858,800.00	\$2,000.00	\$904,000.00	
	42" steel casing at Strempel Rd.	78	L.F.	\$1,491.00	\$116,298.00	\$1,900.00	\$148,200.00	\$2,000.00	\$156,000.00	
	42" steel casing at Alpine Meadow Dr.	94	L.F.	\$1,500.71	\$141,066.74	\$1,900.00	\$178,600.00	\$2,000.00	\$188,000.00	
	42" steel casing (OPEN CUT)	125	L.F.	\$852.83	\$106,603.75	\$1,900.00	\$237,500.00	\$1,200.00	\$150,000.00	
	24" butterfly valves	5	EA.	\$20,922.49	\$104,612.45	\$31,000.00	\$155,000.00	\$25,000.00	\$125,000.00	
	Main line fittings	27	TON		\$400,188.87	\$9,300.00	\$251,100.00	\$20,000.00	\$540,000.00	
	Flowable fill for trenches	1,905	L.F.	\$237.18	\$451,827.90	\$190.00	\$361,950.00	\$310.00	\$590,550.00	
	Air release valves	2	EA.	\$36,414.76	\$72,829.52	\$33,000.00	\$66,000.00	\$30,000.00	\$60,000.00	
	Fire hydrant assembly and valves	6	EA.	\$6,375.00	\$38,250.00	\$11,000.00	\$66,000.00	\$10,000.00	\$60,000.00	
-	OSHA trenching	10,683	L.F.	\$2.50	\$26,707.50	\$1.00	\$10,683.00	\$2.00	\$21,366.00	
	Incidental Items		L.S.	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	
	TCP	1	MO.	\$12,500.00	\$12,500.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	
	Topsoil removal and protection	1	L.S.	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00	\$58,000.00	\$58,000.00	
	Hydro-mulching	42,883	S.Y.	\$1.88	\$80,620.04	\$1.00	\$42,883.00	\$1.00	\$42,883.00	
P.42	Silt Fence	6,508	L.F.	\$3.75	\$24,405.00	\$3.00	\$19,524.00	\$7.00	\$45,556.00	



City of Seguin 24-inch Transmission Main Bid No. AF-2024-26 Bid Tabulation April 23, 2024 - 3:00 PM

			Skyeblue Utilities	, Inc.	Spiess Construc	tion Company	Aaron Concrete Contractors,LLC			
				PO Box 1001		PO Box 2849		41808 Nixon Lane		
				Kingsland, TX 78	639	Santa Maria, CA	93457	Austin, Tx 78725		
ltem	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	
P.43	Temporary Construction Entrance	2	EA.	\$3,125.00	\$6,250.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	
P.44	Connect 20" WL to existing at EST	1	EA.	\$27,236.59	\$27,236.59	\$27,000.00	\$27,000.00	\$25,000.00	\$25,000.00	
P.45	20" plug removal at EST	1	EA.	\$16,974.31	\$16,974.31	\$26,000.00	\$26,000.00	\$25,000.00	\$25,000.00	
P.46	16" plug removal/connect to 20" WL	1	EA.	\$15,804.99	\$15,804.99	\$26,000.00	\$26,000.00	\$25,000.00	\$25,000.00	
P.47	Wrought-iron fence replacement	20	L.F.	\$125.00	\$2,500.00	\$100.00	\$2,000.00	\$200.00	\$4,000.00	
P.48	Concrete driveways removal	15	L.F.	\$250.00	\$3,750.00	\$900.00	\$13,500.00	\$1,000.00	\$15,000.00	
P.49	Remove 12" sewer pipe	20	L.F.	\$676.11	\$13,522.20	\$700.00	\$14,000.00	\$450.00	\$9,000.00	
P.50	20" PVC water main	6,608	L.F.	\$274.30	\$1,812,574.40	\$323.00	\$2,134,384.00	\$310.00	\$2,048,480.00	
P.51	20" DI water main	180	L.F.	\$294.15	\$52,947.00	\$400.00	\$72,000.00	\$350.00	\$63,000.00	
P.52	36" steel casing at N. Austin St.	126	L.F.	\$1,165.01	\$146,791.26	\$1,300.00	\$163,800.00	\$1,500.00	\$189,000.00	
P.53	36" steel casing (OPEN CUT)	20	L.F.	\$702.96	\$14,059.20	\$1,200.00	\$24,000.00	\$1,000.00	\$20,000.00	
P.54	20" butterfly valves	6	EA.	\$15,342.20	\$92,053.20	\$26,000.00	\$156,000.00	\$15,000.00	\$90,000.00	
P.55	20" seat gate valves	2	EA.	\$44,228.16	\$88,456.32	\$49,000.00	\$98,000.00	\$60,000.00	\$120,000.00	
P.56	DI main line fittings	10	TON	\$15,747.51	\$157,475.10	\$9,600.00	\$96,000.00	\$20,000.00	\$200,000.00	
P.57	Detection Wire	6,608	L.F.	\$1.51	\$9,978.08	\$0.20	\$1,321.60	\$2.00	\$13,216.00	
P.58	Detection Tape	6,608	L.F.	\$0.77	\$5,088.16	\$0.20	\$1,321.60	\$2.00	\$13,216.00	
P.59	Fire hydrant assembly and valves	2	EA.	\$14,757.50	\$29,515.00	\$11,000.00	\$22,000.00	\$10,000.00	\$20,000.00	
P.60	OSHA trenching	6,808	L.F.	\$2.50	\$17,020.00	\$1.00	\$6,808.00	\$2.00	\$13,616.00	
P.61	ТСР	2	MO.	\$11,250.00	\$22,500.00	\$3,000.00	\$6,000.00	\$4,000.00	\$8,000.00	
P.62	Topsoil removal and protection	1	L.S.	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	
P.63	Hydro-mulching	1,908	S.Y.	\$2.50	\$4,770.00	\$1.00	\$1,908.00	\$1.00	\$1,908.00	
P.64	Inlet Protection	54	L.F.	\$62.50	\$3,375.00	\$10.00	\$540.00	\$100.00	\$5,400.00	
P.65	Silt Fence	1,499	L.F.	\$3.75	\$5,621.25	\$3.00	\$4,497.00	\$7.00	\$10,493.00	
P.66	Curb and gutter replacement	6	L.F.	\$125.00	\$750.00	\$200.00	\$1,200.00	\$200.00	\$1,200.00	
P.67	Asphalt road replacement	538	S.Y.	\$37.50	\$20,175.00	\$75.00	\$40,350.00	\$140.00	\$75,320.00	
P.68	12" PVC water main	1,686	L.F.	\$144.61	\$243,812.46	\$155.00	\$261,330.00	\$160.00	\$269,760.00	
P.69	12"x8" tapping sleeve	1	EA.	\$7,780.49	\$7,780.49	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	
P.70	12"x12" tapping sleeve	1	EA.	\$9,376.40	\$9,376.40	\$23,000.00	\$23,000.00	\$25,000.00	\$25,000.00	
P.71	12" seat gate vavles	3	EA.	\$6,008.39	\$18,025.17	\$4,000.00	\$12,000.00	\$6,000.00	\$18,000.00	
P.72	DI main line fittings	1	TON	\$20,744.10	\$20,744.10	\$12,000.00	\$12,000.00	\$22,000.00	\$22,000.00	
P.73	Detection wire	1,686	L.F.	\$1.55	\$2,613.30	\$0.20	\$337.20	\$2.00	\$3,372.00	
	Detection Tape	1,686	L.F.	\$0.78	\$1,315.08	\$0.20	\$337.20	\$2.00	\$3,372.00	
P.75	Flowable fill for trenches	538	L.F.	\$187.50	\$100,875.00	\$190.00	\$102,220.00	\$300.00	\$161,400.00	
	Fire hydrant assembly and valves	4	EA.	\$10,489.43	\$41,957.72	\$11,000.00	\$44,000.00	\$10,000.00	\$40,000.00	
P.77	OSHA trenching	1,686	L.F.	\$1.25	\$2,107.50	\$1.00	\$1,686.00	\$2.00	\$3,372.00	
TOTAL BASE BID				\$10,726,825.81		\$12,815,471.60		\$13,697,116.00		
	ALTERNATE BID ITEMS									
	Install 42" OD x 5/8" wall smooth steel	400		#4 000 F		A 4 500 60	0 404 5 00 65	A (000 CC		
P.A.1	casing by OPEN CUT	123	L.F.	\$1,062.50	\$130,687.50	\$1,500.00	\$184,500.00	\$1,200.00	\$147,600.00	
					\$130,687.50		\$184,500.00	\$147,600.00		
	TOTAL BASE BID + ALTERNATE BI			\$10,857,513.31 \$12,999,971.60				\$13,844,716.00		

